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41- Symptoms of the illness include a high temperature and a(an) …… dry cough. 
1) effective   2) persistent   3) respected   4) considerate  
 
42- The government, s main aim is to …… the inflation. 
1) search   2) protect   3) beat   4) meet 
43- Two investigators who are working on this subject have reached the same …… . 
1) expressions     2) experimentations     
3) reforms     4) conclusions 
 
44- The suspect gave the wrong information to the police in order to …… them. 
1)disobey  2) mislead  3) disapprove   4) mistreat 
 
45- The complicated instructions for building the ship …… him. 
1) Puzzled  2) deserved  3) astonished   4) Frightened 
 
46- We looked every where but the intuder was now here …… . 
1) seen  2) having seen  3) that be seen        4) to be seen 
 
47- The speed of light is …… the speed of sound. 
1) as fast  2) faster   3) much faster than   4) the fastest 
 
48- The belief in life after death is prevalent in both primitive societies …… advanced 
cultures. 
1) and   2) and in    3) also   4) and also 
 
49- Her hands smelt of polish because she …… the floor. 
1) has recently been polishing.   2) had recently been polishing. 
3) Is recently polishing.    4) recently polishes. 
 
50- If Jim, s family …… sara, I, m sure that they would like her. 
1) meeting  2) have meet   3) meet  4) met 

 




